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2A: LIEOoH! Dt
Hu: oIS TS (A =X/ w0l
Rl =2 42 NE (St &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
L OIZOHC! Bt 276,647,760 279,601,961 A2,954,201
= 190,995,544
= 4,728,177
= 18,229,650
Al 62,694,389
LOISXISE(AS =X/ =01) 210,680,789 212,574,811 A1,84,022
= 155,453,872
s 4,728,177
& 10,638,132
Al 39,860,608
L= Mg X 202,163,661 203,758,971 1,595,310
= 154,856,547
ray 4,586,855
= 9,582,191
Al 33,138,068
LOolo]  SHAL 32,000 32,000 0
201 LBt AY| 20,000 20,000
03 HAL2 G| 20,000 20,000
O=olol & & F2o 2 EA
20,000,000 14| 20,000
301 LB F 12,000 12,000
11 HAIAHIXI &2 12,000 12,000
OLQlol & J|E&AL EILAF &Hl 24t
12,0002 *1,000H 12,000
2o & A XJA(SHES) 442,800 492,000 249,200
307 212+01 A 442,800 492,000 249,200
04 QUZHHAIAIE E X 442,800 492,000 249,200
OFZ9 & s X (SHS)
442,800,000 & * 14! 442,800
dZ22 MU 8,000 8,000 0
307 212+01™ 8,000 8,000
04 QIZISHAAIS E X 8,000 8,000
Ooz4l MEH(HOIES &) U3
8,000,000 * 14| 8,000
Lolgxtel & AZESKE E#U(EX) 21,123,500 21,091,500 32,000
= 10,561,750
T 3,168,525
Al 7,393,225
101 @124t 5,748,600 5,726,600 22,000
= 2,874,300
& 862,290
Al 2,012,010
M IIZHNZ2 2 NS Es 5,748,600 5,726,600 22,000




2A: LIEOoH! Dt
Ha: COISXISE (AEI=R/ Q1)
Rl =2 42 NE (St &)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
OLQAZ S SKIJ BFAIYE EFO A 1|
(SH3) 5,643,000,000& 14 5,643,000
= 2,821,500
& 846,450
Al 1,975,050
OLQIAZI S SKI3 BEXAIY EHOA &
2(SHS) 40,0002 x240F 112 105,600
= 52,800
& 15,840
Al 36,960
201 B2 AL| 217,520 217,520 0
= 108,760
= 32,628
Al 76,132
01 At 22|l 217,520 217,520 0
OLQIANSIZEX BTAY 28 2R
(SH3) 217,520,000& » 14! 217,520
= 108,760
& 32,628
Al 76,132
202 04d| 2,880 2,880 0
= 1,440
& 432
Al 1,008
01 =LHO4 L] 2,880 2,880 0
OLQIAZIESKId BXRAY =X O]
2,830,000 14 2,880
= 1,440
& 432
Al 1,008
301 LB NEF 48,000 38,000 10,000
= 24,000
& 7,200
Al 16,800
11 HAIAHIXIAZ 48,000 38,000 10,000
OLoAMSESKE BZAIY EOHA I=H|
(2te3l) 10,0003 *2,400E 23| 48,000
= 24,000
& 7,200
Al 16,800
307 gIztol 15,106,500 15,106,500 0
= 7,553,250
& 2,265,975
Al 5,287,275




M
X ZH -
o=

chel:

SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
10 Al = XA EHE2FHIE X 1,124,760 1,124,760 0
It LoIASI B S NIR MYl
o124H| 1,124,760,000& * 14| 1,124,760
= 562,380
T 168,714
Al 393,666
11 AR SXAEE R 13,981,740 13,981,740 0
O0IZt=37| 2t L OIAISIE S X2 Arid|
13,981,740,000 & 14! 13,981,740
= 6,990,870
& 2,097,261
Al 4,893,609
Lolgxtel & AtZEsE KIE ECH(AHA) 1,431,585 2,763,014 A1,331,429
101 2124 d| 1,313,000 2,631,600 A 1,318,600
M IIRINZ2EXSEs 1,313,000 2,631,600 21,318,600
OL QA 8-S X3 RHMANE &0 At el2b|
1,305,000,000 & 14! 1,305,000
OLQCIAte =X RtMALY &AL E&
g 8,000,000& * 14! 8,000
201 LBH2AY| 65,185 78,214 A13,029
01 At 22|l 65,185 78,214 A13,029
OL2ASI SR F& ArS22elt|
65,185,000 14! 65,185
203 PYRF=&IY| 1,800 1,800
03 AN FRIHRFAIY| 1,800 1,800
OLoIA S-S ZALY AIZ =&
1,800,000 *14] 1,800
301 LB F 27,000 28,000 A1,000
11 SHALAHI XA Z 27,000 28,000 21,000
OLQASIESXA #0A WSH|(2HES])
5,000& *2, 700 23] 27,000
307 212+01 A 24,600 23,400 1,200
02 QI B AAIEER 24,600 23,400 1,200
ORIZIEE) |2 LOIAISI B SKI2AY &
ol nEa+Y 50,0002 *418«12& 24,600
O==AILIGE2Y 29 XIA(=H) 359,980 346,710 13,270
& 107,994
Al 251,986
307 212+01™ 359,980 346,710 13,270
& 107,994
Al 251,986
05 01t Er 2 353,500 340,230 13,270
OAILI 2" 2g8I(%HI)
353,500,000 *14] 353,500
& 106,050




SA: olF eIt
& LoISXSA (ARSI =)
ool LS M3 X2 (CHol: &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
Al 247,450
10 Al SAAEEHE 22X 6,480 6,480 0
OAILINZE SAHL SE=8
6,480,000 *14] 6,480
=S 1,944
Al 4,536
O==AILIN2E 2<% X3 (XHH) 60,800 60,800
201 =3 40,800 40,800
01 At22t2ltl 40,800 40,800
OO ==AlLIZEE Xtz XA
40,800,000 * 14 40,800
307 elzto| & 20,000 20,000
05 212t S 20,000 20,000
O ==AILINEE 2€ Xd
20,000,000 x 14 20,000
CQIEH XA 192,495 210,953 18,458
== 20,279
Al 172,216
201 2gr=3| 25,760 25,760
01 At2telt] 25,760 25,760
BRAIAICH M2 =S
25,760,000 * 14| 25,760
307 elzto| & 166,735 185,193 18,458
= 20,279
Al 146,456
02 2B YA HE A 49,000 69,000 220,000
OLol MIESXIZAIY &E L SOtALY
X2 (CHat 015l Of==AIXIS)
10,800,000& x 14! 10,800
OR4 oliyst 29
16,200,000 * 14| 16,200
Of= 32 3T W=x
8,000,000& *14] 8,000
OF &2l MsEAIEIt A&
4,000,000 * 14 4,000
OALEEE 2E
10,000,000 * 14| 10,000
& 3,000
Al 7,000
03 YIZHHEE 22X 48,620 48,620 0
OUgt=2lg] o==AlXl2l 23bI 38,900
oMNS=RY 12| 33,600,000 x 14! 33,600
oliet=elel Xtg 23|
5,300,000 * 14 5,300
Oletclal o=AlKlzl SHS22 A&
9,720,000& %14 9,720




2A: LIEOoH! Dt
Hu: oIS TS (A =X/ w0l
Bl = 4 A2 (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
11 AMSIESXAIEEXR 69,115 67,573 1,542
OAlZ L0213 843 2gH|
69,115,000 & 14! 69,115
= 17,279
Al 51,836
HSGE AR AXF 13,000 25,000 212,000
307 212+01 ™ 13,000 25,000 212,000
02 QIZHB AT E R 13,000 0 13,000
oYY U ARG (SIS K==AlKl
3l) 13,000,000 14 13,000
JI=3g K= 160,327,552 160,327,552 0
= 144,294,797
& 3,206,551
Al 12,826,204
301 LB F 160,327,552 160,327,552 0
= 144,294,797
& 3,206,551
Al 12,826,204
01 AISIBE XS (2 REXTME) 160,327,552 160,327,552 0
OJl=eg XA 160,327,552, 000 & * 14| 160,327,552
= 144,294,797
= 3,206,551
Al 12,826,204
Colstly ogtus - g8 3,000 3,000 0
201 B2 AY| 3,000 3,000
01 At=R2teld| 3,000 3,000
OgEt=2H| 3,000
oEB0HE ¥ =3 MFH
3,000,000& * 14| 3,000
LOINEEZE ML AN 6,314,410 6,314,410 0
[as 4,420,090
T 568,300
Al 1,326,020
307 2I2+01 ™ 6,314,410 6,314,410 0
ax 4,420,090
& 568,300
Al 1,326,020
05 QIZtRIErZ 6,314,410 6,314,410 0
Ok oIt E=ZAHIAASA
6,314,410,000& * 14 6,314,410
ax 4,420,090
& 568,300
Al 1,326,020
OIS EZMUIAAY oI WSE+Y 435,500 401,700 33,800
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2A: LIEOoH! Dt
Hu: oIS TS (A =X/ w0l
Rl =2 42 NE (St &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
HEMXIZO0IE SsSHa A TID] AFH 109,080 109,080 0
& 32,724
Al 76,356
301 LetSEHZ 109,080 109,080 0
= 32,724
Al 76,356
P2 A 2R Z(HAHS, NYHA) 109,080 109,080 0
OUHZSAXZ0IEH SSUA CHRATD] At
109,080,000 * 14 109,080
& 32,724
Al 76,356
H2AZa=sdH 29 346,487 372,352 A25,865
101 2124t 153,156 183,364 A30,208
M IIZMZ22 NS Es 153,156 183,364 230,208
ONHZA2SNFHH 29 153, 156
Q122 80,2403 5% x5 x52== 104,312
oFgg 80,240 x5 «523= 20,863
oNEAZ BHAY
7,680 x5 x5 x50 11,981
oASIEEE 16,000,000 * 14! 16,000
201 L2 AH| 120,51 115,228 5,283
01 AtR2elt] 27,431 28,848 A1,417
ERlea =] 6,779
oXotE &I|&Hl EIIZA
1,500,000 *14] 1,500
oot 5 HAES Y
50,0002 x6 I A~ *43 1,200
ol &A (Il - HEEIZ)EE 7Y
50,0002 x6 1 A +6F 1,800
o2 ANRES ¢
1,359,000 *14] 1,359
oAMAA AS)|ls Ed Y ZSEEYEH
400,000& * 14 400
cEUXNE(ZRE) 2
130, 0003 #2 Ax23| 520
Oo2d=g 300
oHEAA ¢ 100,000 *3H 300
ogxz 5,508
o& D] 2teldl 25,5002 +x8CH+ 12& 2,448
oZ3I|EFI| &teltl
15,0003 *2CH* 122 360
ogt&Al HlOl 22id]
12,5002 = 18CH*12& 2,700
Oozels4h| 14,844




S ol E oIt
& LoISXSA (ARSI =)
Rl =2 42 NE (Cre &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
RSB ZAIE /|
200, 0002+ 122 2,400
o5YI| BAFY fstme
220,002 1CH*122 2,640
oFIIQIFBIE| FIH]
500,000 * 122 6,000
oAAlE OtE 22| FEH
317,000& 122 3,804
02 352484l 93,080 86,380 6,700
O=32= # HAl 38,500
oMIIE= 1,500,000& 122 18,000
oot 23 350,000 * 12 4,200
o AIIIA 23 1,000,000& «12& 12,000
oSS 300,000& 122 3,600
cHERYFES 700,000& *14] 700
OAIZ2 &t |XId| 54,580
oAN&=3Hl ==Yl
20,000,000 *14! 20,000
o0 Ha 130,000 *36CH 4,680
SLEDS I A 100, 00024504 500
ool Ha 500,00024543] 2,000
o2& S HiEeA IYNY
10,0003 »730& *12] 7,300
oM4ZYD B BY
1,000,000& 22 2,000
o4+2FH Y 2,000, 00024141 2,000
o YR O F L HETY
2,000,000 *14] 2,000
o&I| JIH. A 22
8,000,000 +14] 8,000
otfFAE R
1,500,000 *19H 2 1,500
=CCTV =Xl2eldl 500,000 *16CH*20% 1,600
oTAITIA AlE 222l
3,000,000& *14] 3,000
206 M=l 1,800 1,800
01 MZH| 1,800 1,800
O AZLH 2 MAIF WS
1,800,000& %14 1,800
301 EetE2 N = 71,020 71,520 A500
11 #AIAHIXIE S 71,020 71,520 A500
OLelotulnl =& 1,500,0002 %12 1,500
OZ2 e At 2HE 3
10,0003 x20&H *22] 400
OOt =20 2A=
80,0002 182 x485= 69,120




S ol E oIt

& LoISXSA (ARSI =)

ool S ME X2 (CHol: &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
LRI RUYLE 10,440,542 10,689,670 A249,128

== 2,425,568
Al 8,014,974
101 el124d| 18,133 17,692 Lz
VBIEFEESEEES 18,133 17,69 441
OFIIQWIIZ WL - 830 Ml 20/ 18,133
ST 80, 2402112 x52 315 12,438
oFELY 80,2402 12 +317 2,488
cMET PAEAY
7,680 x1H+62*31= 1,429
oMBIEER 1,777 5703 *14] 1,778
201 Ler23 | 8,440 8,440
01 At2teltl 2,640 2,640
Odgt+=3=t| 240
o0=Al FJIeI2 NEYARIEE N
i ARSE PY(H4Y 5)
40,0002 62| 240
Oo=2g=+¢ 2,400
o0==Al FIIQIIANEHAREE 2
o H&=g 100,000& x4 & *62] 2,400
03 A= SHI 5,800 5,800 0
Ol SAL SEdet Ads N
ks 5,800
of3AE =Hl2 7Y (B2 S)
600,000& *14] 600
o3& Mzl ANESI=
2,000,000 %14 2,000
oS8 U RULX S HAI T AY|
1,700,0002 %14 1,700
SNFEY DT S DALY
500,000 32 1,500
202 04l 320 320
01 2LHoIH 320 320
O XA R NE=EH
20,0003 x2ZH *12+83] 320
301 EtE NS 10,413,649 10,411,618 2,031
=S 2,425,568
Al 7,988,081
02 ARSI 2E AT S(FIANS, XLETHE) 10,410,289 10,408,258 2,031
OLQldEAE SSAN 23|
73,8002 x1H+365& 26,937
< 8,081
Al 18,856
OLMEANE S=zstssi B8
3,408, 167,000 * 14 3,408,167
= 1,022,450




ofl
i’
oF
uJ

N426,222

ro[El=
ol &Y

3,360

7,877,320

154,000
154,000

154,000
148,000
4,000
4,000
144,000
144,000

178,752

178,752
178,752

2,385,717
6,975,185

0l &y

H

1,395,037
3,360
3,360
3,360

7,451,098

5,580,148

fir

597,325

]

141,322
1,005,941

5,656,510

Iy

154,000
46,200
107,800
154,000
46,200
107,800

154,000

Al

H

154,000
46,200
107,800
148,000
4,000
4,000
4,000
144,000
144,000
144,000
178,752
44,688
134,064
178,752
44,688
134,064

178,752

Al

Ot

S - B - SR(3) - NRAY - BES

&

KAIE X

o
oJ
H

307 212t01d

Al
o

o
[uind

2l %1

4,000, 0002 * 14!

154,000,000
*2,0002 2401 +50%

=]
=

2|

e

6,000

[ = XA

2]
OAXNY Lo HE==E 2= s

01 AtR2telbl

11 Ak

AHHE AL

<r

oJ
H

it

(57H2)

ol

AHBHE AL

<

oJ
H

OTHIt

178,752

178,752,000 & x 14!




2A: LIEOoH! Dt
Ha: COISXISE (AEI=R/ Q1)
el LSXAE X (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
T 44,688
Al 134,064
dZ2AY 2234 1,333,694 1,333,694 0
= 400,108
Al 933,586
301 LPBNZ 1,333,694 1,333,694 0
& 400,108
Al 933,586
02 AISIBEESHS(FHUHS, NSMWE) 1,333,694 1,333,694 0
Od2AY RE3A(501L)
1,333,694, 0003 14| 1,333,694
T 400,108
Al 933,586
LoIEX2 29 X3 (=) 66,180 66,180 0
= 19,854
Al 46,326
307 212+01 A 66,180 66,180 0
& 19,84
Al 46,326
10 Al =S XA EEE2IHIE X 28,080 28,080 0
LolEX| & SAR SE+E(MA)
90,000 *26F  12& 28,080
& 8,424
Al 19,656
11 AMSISXAIEEXR 38,100 38,100 0
COoIZX2 T2 XIJAAE(20HA) 38,100
ol olM2 Lol (Al
24,100,000 3 14 24,100
& 7,230
Al 16,870
oli(=)AHd XNE(SHE=LoISX2)
14,000,000 3 * 14! 14,000
& 4,200
Al 9,800
LOoISX2 29 XA (KAl 1,319,043 1,303,462 15,581
307 212+01 A 1,318,240 1,268,462 49,778
05 CIZtRIEr 1,318,240 1,268,462 49,778
OW==AloI=X2 28 XA
590,000,000& * 14! 530,000
Ost=Loelsi2 29 XA
503,098,000 14! 503,098
Osisol=sx 2 22 28
225,142,000 *14] 225,142
401 A& HIZ 200 803 18,750 AN17,947




2A: LIEOoH! Dt
B OIS XIS (AE =X/
cel: LoI=TAIL XY o
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
01 Al&HI 803 18,750 AN17,947
Osaosk2 A2 EcHX WA
803,000& * 14 803
SHE 0IS=X & SSHEIE XA 73,000 74,000 21,000
307 212+01 A 73,000 74,000 21,000
11 Al SXAMEER 73,000 74,000 21,000
OS0E 0IS=X U LoTSME 23T
el XI&AE 3,000,000 14 73,000
LOI=XIAIE 2HAH| 558 558 0
T 167
Al 391
307 2I2+01 ™ 558 558 0
= 167
Al 391
11 AR SXAMEEER 558 558 0
COIMEAIE ALY
1,500 x 14«31~ 122 558
& 167
Al 391
LOIZEXAE BAK EEE 494,640 455,040 39,600
T 117,000
Al 377,640
307 2I2+0l™ 494,640 455,040 39,600
& 117,000
Al 377,640
10 IS SXAIEHE2ZHIEX 494,640 455,040 39,600
OLQIQYAIL BAR SEaY
50,0003 <650« 123 390,000
& 117,000
Al 273,000
OMMIIEI QD2 (F012HIEH) SAIRL S
g 20,0003 #436H x 122 104,640
LOIQAANAE(DIsEL) &F 297,520 756,000 A458,480
s 141,322
& 70,661
Al 85,537
401 A& HIZLE0HY| 297,520 0 297,520
ax 141,322
& 70,661
Al 85,537
01 AlEHI 297,520 0 297,520
O NZRAR JISEZAY
72,320,000 3 14| 72,320
= 34,352




2A: LIEOoH! Dt
Hu: oIS T (A =X/ w0l
el LSXAE X (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
T 17,176
Al 20,792
OSMCAHSQUR I|SEYAIY
225,200,000 *14] 225,200
iy 106,970
& 53,485
Al 64,745
229 Yugy| 2 23HIXJ(EX) 1,194,650 1,157,609 37,041
= 597,325
T 179,197
Al 418,128
201 B2 AY| 21,892 24,930 A3,038
= 10,946
& 3,283
Al 7,663
01 A=R2teld| 21,892 24,930 A3,038
22Y 22H| XIANY 25 ()2
21,891,230 3 * 14! 21,892
= 10,946
& 3,283
Al 7,663
301 LB F 215,258 218,579 A3,321
= 107,629
& 32,289
Al 75,340
01 AISIBE XS (2 RETME) 215,258 218,579 A3,321
OZEY Y3 N
215,257, 1403 14 215,258
= 107,629
& 32,289
Al 75,340
307 212+01™ 957,500 914,100 43,400
= 478,750
& 143,625
Al 335,125
10 Al =S XA EEHER2IHIE X 957,500 914,100 43,400
OZZ2Y &l XI&
782,600,000 * 14! 782,600
= 391,300
& 117,390
Al 273,910
OZ2E ded| X&
174,900,000 * 14| 174,900
= 87,450




2A: LIEOoH! Dt
Hu: oIS T (A =X/ w0l
el LSXAE X (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
T 26,235
Al 61,215
229 Wutgy 2 2= H| XA (XAl 9,570 11,647 N2,077
201 Ler23| 6,074 7,847 A1,778
01 AtR2elt] 6,074 7,847 A1,773
OZ=2g 22| XA 25 ()2 (=t
) 6,074,000 * 14| 6,074
202 0idl 3,496 3,800 A304
01 =LHO4b] 3,4% 3,800 A304
OZ2Y AHZEA & J|ISELAY 8& &
ol 1,876,000 14 1,876
Odag Lo & &3us
20,0003 *3H 27 1,620
d2Y 294 XA 830,633 830,633 0
& 166, 127
Al 664,506
307 212+01 ™ 830,633 830,633 0
& 166, 127
Al 664,506
10 Al S XA EEHER2IHIE X 830,633 830,633 0
O3z 24| XI&
830,633,000 *14] 830,633
& 166, 127
Al 664,506
d2Y JISELAIS(XHA) 1,105,806 1,047,000 58,806
401 AIEHIZL20HHI 204,650 200,000 4,650
01 Al&HI 204,650 200,000 4,650
OZ2Y 47R 2= JIsEZAY
200,000,000& * 14! 200,000
OZ2Y =idEt UtsAtEX &R
150,000 *31JH 2~ 4,650
402 QIZ2+Xt=01H 01,156 847,000 54,156
01 QX2 AIE B A (REMITHE) 901,156 847,000 54,156
OdzY 2EZEXE 102,850,000 * 14 102,850
OAetH 12,000
oHAPR|ZRYE B
12,000,000 14| 12,000
Os&HY 24,800
oFMNEZY B 24,800,000 3 14! 24,800
ogdH 200,000
oFEAZY AF(FLUEN)
200,000,000& * 14! 200,000
OstEH 267,500
o EZY AF
250,000,000 =14 250,000
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02 DIZHFAAIA B 52,850 49,950 2,900
OXIME ORI B 0I=AIRIE RESAIA 2
o 4,000,0002 * 14l 4,000
OLHEOHI=ZR B HSEAIXE RBSAIA
29 5,000,0002! * 1Al 5,000
OAZLEOHQINEIEI04KIE RRIAA 2
= 2,500,000 14! 2,500
SOIIEE|02AIXIE RPE2AA 29
3,000,0002! * 14! 3,000
OUEROIEF X8 LEZAA 29
2,700,0002 x 1Al 2,700
OROBHOIES HAAXE REZAAL 2
& 1,500,000 14! 1,500
OBI2EfIN BSHI5| 0 +AIN 5 282
AMA 29 1,500,000 14! 1,500
OLIEY GIZEZAL L BIIIZE Q1A JHA
2,000,0002! * 1Al 2,000
ONIAIZ ORI & I A
1,800,000 %14l 1,800
OAIEZOHQ! SERME X
3,600,0002!* 14! 3,600
OFL ROHQl THESX AL &It K&
1,200,0002 %14l 1,200
OAEtel 2 i e|es MetdEisl X
2l 2,400, ooo%l*m' 2,400
OFY XIMZAE OIS Z 2 MKH| AL &
oF X 3,000,0004*1& 3,000
Osotelol < AL &It X
1,350,0002 % 1Al 1,350
ONYE ZOHQIo & AL &It XIH
5,000,0002 * 1Al 5,000
OFOfel J1sSZIIs EIX(H=, M)
2,700,00024 %14l 2,700
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M DR EXNSE(ASEX/FHLAHASKIH)
el HONOl =XIAIE L S X (9 =)
< S[E]
SA - B O9I(S) - NRAY - BYS Ofl ko e HimE=T
OLGHENC EQESAIS (HMHARIAH)
5,600,000& 14! 5,600
OXHMZe &)= UHE ¢
4,000,000 14 4,000
03 QI HE2GHIEX 53,200 53,200 0
O(ADXIMIBOHRIE 3 O==AIXIS 2]
9,600,000 14! 9,600
O(ADAMZOHCISXIZ (=AIXIR 22|
12,000,000& % 14! 12,000
O(ANAIZLEOfOIAE S (4=XI3 29U
6,600,000 14 6,600
O(AH =03 O==AIKIE 2|
14,000,000 14| 14,000
O(ANAZEICIES 228l X
11,000,000& % 14! 11,000
" ASI=SXAIEEE 37,350 37,350 0
O&MZEI=X3 SALXE EsXIR
5,000,000 14 5,000
Os0t018s] OIS2E SAXE 2SKE
5,000,000 * 14! 5,000
OdEEE ENXIZ MELIS AIY
5,000,000 » 14! 5,000
S0tlgal =01g Matn ASotl At
6,000,000 14 6,000
OAIZEOe EXtns 228 22 XI&
2,600,000 14 2,600
O&Z AL WK
6,750,000 x 14! 6,750
OgLHMe! A2E203 (oD
al) 7,000,000 14 7,000
ZoHelel & SAL 27,000 27,000
307 gIztol 27,000 27,000
04 QIZHHAIAISE E X 27,000 27,000
OFOlel & JIEHA
27,000,000& %14 27,000
Zofe! EEME s KA 19,000 19,000 0
307 QI2H0| A 19,000 19,000
02 QIRHEAAIH B X 19,000 19,000
OZoe 3&AE =238 X 19,000
SXXMEOHR! HEHME
7,000,000 14 7,000
oAIXI &Rl EEXA
3,000,000 14! 3,000
S AZLUEOHR! HEHE
3,000,000 14! 3,000
os0I2IE3 H==AIXIR EEHE
3,000,000 14 3,000
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B2 DOHOl RIS (AEI=XI/FHAHSTR)
chel: EOjOl =XAIE L Bl X2 (ci9): @2
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
o MEFOHC! HEXE
3,000,000& * 14 3,000
ANZEOHRIS] S SHAL 2,000 2,000
307 212+01 A 2,000 2,000
04 QUZHHAIAIE E X 2,000 2,000
OAIZEofolel & SHAHEIXIZO|S &) &It
X3 2,000,000 *14] 2,000
ANZZE Rl SEHME &= 6,300 6,300
307 212+01™ 6,300 6,300
02 QIZHA A AL E X 6,300 6,300
OAIZEOHel Sttt X& K&
6,300,000 * 14| 6,300
M2 =0 Z3HA 5,850 5,850 0
307 212+01 A 5,850 5,850
04 QIZISHATAIE 2 & 5,850 5,850
OArZS] =0 23Nl ALK&
5,850,000 & * 14! 5,850
HOCISE=EXS Us JIsE2AY 17,000 17,000
401 A& B2 200 17,000 17,000
01 Al&HI 17,000 17,000
OXeISE=EX2 Us JISsELSA
17,000,000 3 * 14! 17,000
SHOHC! HHOIAIA AX| 134,525 134,925 2400
= 22,173
Al 112,352
201 L2 AH| 5,000 5,400 2400
01 AtR2telt] 5,000 5,400 A400
Oget=2| 200
CR2FMEZAl 212 H==0 HE
100,000 *23| 200
o2g+Y 4,800
oREMEAl 3o EHALY
100,000 * 12 43| 4,800
202 0idl 660 660
01 =LHO4b] 660 660
OZOHR! HOAE AXIAIY F& (|
110,000 & *3H +23| 660
307 2I2+01™ 110,865 110,865 0
& 22,173
Al 88,692
10 IS SXAIEHE2ZHIER 110,865 110,865 0
OF N HOIZSEI|=X2MH 29
110,865,000 * 14 110,865
& 22,173
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ol SXNSE(AMZSK/HLAHSKH)

&l ol SXAIE & &Ml K& (S &)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
Al 88,692
401 A& B 200 18,000 18,000
01 Al&Hl 18,000 18,000
OO0i48 ROJOIZEX RS OHiT 8% U &
2 s 18,000,000 *1 18,000
I HFTAIE 29 KA (=H 1,463,050 1,480,097 AN17,047
= 295,224
Al 1,167,826
202 04d| 1,600 1,640 A40
01 =WOdbI 1,600 1,640 A40
OFHOAL 62 & XS H2 S
20,000 *4H+203] 1,600
307 212+01™ 1,461,450 1,478,457 A17,007
& 295,224
Al 1,166,226
10 AlZISEXAEHE2EHIEX 1,461,450 1,478,457 A17,007
OZOHR! JfoISHAIE 28I (20 A) 854,210
oHEWAI=0I2 470,365,000& * 14! 470,365
= 94,073
Al 376,292
o+=0H 383,845,000& * 14 383,845
& 76,769
Al 307,076
OFC SSMEIE 2FHI(60HA) 384,000
ocHHMIt= 15 64,000,000 14! 64,000
= 9,600
Al 54,400
oHi#Il= 28 64,000,000 14! 64,000
& 9,600
Al 54,400
o022l 15 64,000,000 14| 64,000
= 9,600
Al 54,400
o0|2el 25 64,000,000 14! 64,000
= 9,600
Al 54,400
o2z9o & 64,000,000 14! 64,000
& 9,600
Al 54,400
SYNE SIS 64,000,000 14! 64,000
= 9,600
Al 54,400
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B2 DOHOl RIS (AEI=XI/FHAHSTR)
Chel: TOHO! =AM L CHY A (9 =)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
OOl HF=AIE SAHA EEH
199,440,000 * 14| 199,440
= 59,832
Al 139,608
OBONY HFAIM AT ZIIHES
10,000,000 «2H 20,000
& 6,000
Al 14,000
OFORYl HFAIL 2FBAY|
3,800,000& * 14 3,800
= 950
Al 2,850
ZOCINHFAIE 28 XA 6,147,744 6,147,744 0
= 4,303,421
= 553,297
Al 1,291,026
307 212+01 A 6,147,744 6,147,744 0
= 4,303,421
& 553,297
Al 1,291,026
10 MG SXAIEHE2GHIEX 6,147,744 6,147,744 0
OFOHR! HF=AIE 2FHI(4MA) 6,147,744
oz WA 2,161,283,000& x 14 2,161,283
= 1,512,898
& 194,516
Al 453,869
o JtLHE 1,729,674,000& * 14| 1,729,674
= 1,210,772
& 155,670
Al 363,232
SIS, 913,851,000 *14] 913,851
= 639,69%6
& 82,247
Al 191,908
ozddelXl 1,342,936, 000 * 14 1,342,936
= 940,055
T 120,864
Al 282,017
ZOHCIAFAIE SIIFEED| dEXA 2,520 2,520 0
= 1,512
T 504
Al 504
307 2I2+0l™ 2,520 2,520 0
= 1,512
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B2 DOHOl RIS (AEI=XI/FHAHSTR)
chel: EOjOl =XAIE L Bl X2 (ci9): @2
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
T 504
Al 504
10 Al = XA EHE2FHIE X 2,520 2,520 0
OFOHR! HFEAL BIIHHI| A X
2,520,000& * 14 2,520
= 1,512
T 504
Al 504
Z0HR EIIHF(ES)AE 29| 383,914 371,914 12,000
= 28,773
Al 355, 141
307 212+01 A 383,914 371,914 12,000
& 28,773
Al 355, 141
05 QIZtRIErE 383,914 371,914 12,000
OZ0L! EDIH=(ES)AE 2gH|
191,820,000 * 14 191,820
T 28,773
Al 163,047
OHFOC! EDIHF(ES)AME 2L (XHAI)
192,004,000 * 14| 192,094
ZOHCIAFAIE JISEZ(XHA) 60,000 60,000
401 A& HIZ 200 60,000 60,000
01 Al&HI 60,000 60,000
OO == A BN HFAIE JISEZAISE (B
FOIZ) 60,000,000 *14] 60,000
Fojelse=NE 28 N3 2,103,611 2,104,511 A900
& 325,943
Al 1,777,668
307 QIZt01 A 2,103,611 2,103,611 0
= 325,943
Al 1,777,668
05 2I2tRES 1,849,718 1,849,718 0
QeI sE=X2 28 XA
1,665,169, 0003 * 14 1,665,169
& 249,775
Al 1,415,394
OQZMIBSE=R2H(SEXNZE) 2F KIA(
KHAI) 184,549,000 * 14| 184,549
11 Al SXAMEE R 253,893 253,893 0
ORUIZE =X 2224 ALY
253,893,000 * 14 253,893
& 76,168
Al 177,725
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B2 DOHOl RIS (AEI=XI/FHAHSTR)
chel: EOjOl =XAIE L Bl X2 (ci9): @2
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
SHAIAlE 2FXIR 930,830 930,830 0
= 651,581
& 279,249
307 QIZt01 A 930,830 930,830 0
= 651,581
T 279,249
10 Al SXAIEHE2ZHIEX 930,830 930,830 0
OBHIAIL (N BOIR2A) 22|
930,830,000& * 14! 930,830
= 651,581
= 279,249
SHHAIE 29 XIJA(&HI) 21,960 21,960 0
& 6,583
Al 15,372
307 QIZt01 A 21,960 21,960 0
= 6,588
Al 15,372
10 IS SXAIEHE2ZHIEX 21,960 21,960 0
OFHAAI - (LT OIRAA) SAIA S 4
=1 21,960,000 3 14| 21,960
& 6,583
Al 15,372
SRR O1Z2AIE 29 K 4,435,308 4,416,648 18,660
& 786,882
Al 3,648,426
307 QIZt01 A 4,435,308 4,416,648 18,660
= 786,882
Al 3,648,426
05 CIZtRAErZ 239,500 220,840 18,660
O ==AIZHRIIIEXIRME 2
239,500,000 & * 14! 239,500
& 47,900
Al 191,600
10 Al S XA EEHE2FHIE X 4,187,808 4,187,808 0
OFOfCl MNATHEAIE 2F[(4H4) 1,744,943
oEHOHAER] 786,574,000 *14] 786,574
= 141,583
Al 644,991
SHTAIZMH ES X AE
297,685,000 & * 14! 297,685
& 53,583
Al 244,102
oSLHU=ER 345,654,000 *14] 345,654
T 62,218
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I Fojel SXUST(MESX/FHAAHSKH)
chel: EOjOl =XAIE L Bl X2 (ci9): @2
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
Al 283,436
SO ONITHE TR F
315,030,000 x 14 315,030
= 56,706
Al 258,324
OOl =AESAIE 2SHI(5HA) 1,570,025
o MO0l JtS8t &
288,364,000 x14] 288,364
= 43,255
Al 245,109
olt&FelBMHUFAHESHH
304,376,000 x14] 394,376
== 59,156
Al 335,220
SE= 319,457,000 x14] 319,457
= 47,919
Al 271,538
> &0| S 277,339,000 x 14 277,339
= 41,601
Al 235,738
CEHMTNDSMES
290,489,000& x14] 290,489
< 43,573
Al 246,916
OOSAIT N MEOISHRHE 2
274,325,000 x 14 274,325
= 54,865
Al 219,460
OO =AU SHHE 24
304,020,000& x14] 304,020
< 60,804
Al 243,216
O ==AIZIE 0! NEX2AME 2
170,295,000 *14] 170,295
= 34,059
Al 136,236
Ol OIBAIE SAHL SE+E
124,200,000 * 14| 124,200
< 37,260
Al 86,940
1 AMEISXAIEEXE 8,000 8,000 0
Ol =0ud S 2218 =24
8,000,000& 14 8,000
=S 2,400
Al 5,600
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B2 DOHOl RIS (AEI=XI/FHAHSTR)
chel: EOjOl =XAIE L Bl X2 (ci9): @2
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
Zope! Mg 24 119,000 111,200 7,800
& 23,800
Al 95,200
307 QIZt01 A 119,000 111,200 7,800
= 23,800
Al 95,200
11 AR SXAMEEXR 119,000 111,200 7,800
OFe! MEE 2H(2HA) 119,000
oxR=d 59,500,000 14! 59,500
& 11,900
Al 47,600
octE4Ul 59,500,000 *14! 59,500
= 11,900
Al 47,600
SOOI ME T RAHE K& 164,266 158,534 5,732
= 65,707
= 29,568
Al 68,991
307 2I2+01 A 164,266 158,534 5,732
= 65,707
T 29,568
Al 68,991
10 Al = XA EHE2FHIE X 164,266 158,534 5,732
OW==Z0CIRISMEHIE XI&
164,266,000 * 14| 164,266
= 65,707
T 29,568
Al 68,991
HOHQI X & MEXRHE X (&HI) 293,34 268,000 25,34
= 58,679
Al 234,715
307 212+01 A 293,3%4 268,000 25,34
& 58,679
Al 234,715
10 Al =S XA EEHER2IHIE X 293,3% 268,000 25,3%
OXOHOIXI B MEFHIE] XIJ(2IHA) 293,3%
octZ2 4| ZOHCI At MEHIH
228,830,000 *14] 228,830
& 45,766
Al 183,064
o =ZOHQI K& MEHMIE
64,564,000 3 *14] 64,564
& 12,913
Al 51,651
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